HAXELRRRE

A 1 2 3 4 | Bk lex=ord] BAL . )
A1 INRIVIER -8B
1 B — 25 v hSTD 2% 3%0 1%2 | 2%x1 2 2
R7ySTC2020 B=—t
2 SN 1%2 1%2 | 1%2 | 0%3 4 . 1
S B1 INRILER- I
3 [SBTC Z@<#A)| 0%3 2%1 0*3 1%2 3 ®
a—k
4 PR - Y 2%1 2%1 3%0 3%0 1 c1 K7STC2020
KU ¢ 9
L &t v
B 5 6 7 R fexvvrs ind 1
“ D1 |#A%LOBAA-Star
5 HEREVNS D 2%1 | 0%3 | 1x1 2
6 PEYT G| 1k2 0*3 0%2 3
7 | e | 3%0 | 3%0 2%0 1 B— % 43}STC2020
R ) —=FA¥
C 8 9 10 11 | B5RK peseorm IEAL o ors .
- 1 A INRILiEE-iE
8 FIRFST2008D 2%1 | 3%0 | 1%2 | 2x%1 92
N=— R HE
9 Gogy | 1x2 3%0 | 1x2 | 12 3
10 | #=E3—nsT A | 0%3 | 0%3 0%3 | 0%3 4 A2 | F—x5EwksSTD
K5ySTC2020 —ATEY
11| 2055 | 2% | 2%1 | 3%0 3%0 1 oo
1
— B2 | HKSUHNAS-D
D 12 13 14 | B5ER [exevrs|mxr—a| IBLL P
12 |7 ==y 2B 2%1 1%2 1*1 0 0 2
C2 | BIFFST2008D-4T
13 PR - 22 1%2 2%1 1*1 0 A4 3 @ ]2
14 | PMEOIE L ok | 12 1o | 4 | 1
D2 | #EFETz=vIX"B
No.12z—k | No.13=2—h | No.14=2—b | No.15=2—}h
9:40~ 1 2 5 §) 8 9 " - o —_
VB s B —RFE > RSTD
10:30~ 3 4 12 13 10 11
11:20 1 3 5 7 12 14 . .
2E B 5 HIFFST2008D
12:40~] 2 4 8 10 9 11
13:30 1 4 6 7 8 11
14:20~] 2 3 13 14 9 10
15:10~) C2 D2 Al B1 C1 D1 A2 B2
16:00~] A3 C3 1B 2E RS B3 D3
Min 3. Maxb . BEIZEHE
A3 | SBTC-Z (&HSH)
@a—F BHE SBTC- & (< #H)
C3 =—X-E(THN
) e, |BEIEANE
B3 | #iETU7 WS
®a—k ZhE NFLiER-Z=
D3 INFILER-ZE




